Quiz 1

The first letter of

your LAST name First Name Last Name

CAD/CAM/CAE Summer 08

Yokohama National University

Quiz 1l
Date: 7/23/2008
Time: 11:15-12:00 (45 min.)
Format: Closed book, closed notes
Weight: 10% of total grade

Note: You have 45 min. Be careful about the time allocation.
Try not to leave any problems totally blank so that
you can receive partial credit. Good luck!

Q1-1 Q1-2 Q1-3 Q1-4 Total
(25 pts) (25 pts) (25 pts) (25 pts) (100 pts)
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Q 1-1  Whatis the definition of a cross product of two vectors?

(25 pts)
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Q1_2 Find the distance from the origin to plane x+y+z=13. Show all the derivation steps for full

credit.
(25 pts)
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Q1-3

(25 pts)

Given two planes, "*P= d

derivation steps for full credit.

1 and 2P = dz, find the intersection of the two planes. Show all the
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# Method 2
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Q1_4 Find the volume of the polyhedron. Show all the derivation steps for full credit.

(25 pts)
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